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Run 5567 triggerwise, sums: All
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Endries: 148

Maan: 14936850 4+ 52.2388

Sid Dew: 9718377 +0- 36,5384
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Run 5567 triggerwise, sums: Beam ON, Laser ON

—— Helicity==0
— Helicity==1

Enitries: 0

Mean: 00000 +- 0,000

Sbd Dev: (L0000 4+~ 00000

Enitries: 0

Mean: 00000 4~ 0.0000

Std Deery: 0.0000 4 00000

Run 5567 triggerwise, sums: Beam OFF
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Entriza: 148

Mhzan: 1499.6B50 4+ 52.2388

Sid Dwrw: 9718377 40 36.8384
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Run 5567 triggerwise, sums: Beam ON, Laser OFF

— Helicity==0
— Helicity==1

Entries: 0

Mean: 000000 +/- Q.000

Sid Drev: L0000 +- 0.0000




